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Straight Lines Ex 23.2 Q1

Let the equation of the line be:
y =y =mix-x,)

MNow,
m =0 [ Farallel lines have equal slopes, the slope of x -axis is D]

(ri91) = (3-5)

Ly=yi=mx -x,)

y - (-5) = 0fx - 3)

¥Y+5=0
Straight Lines Ex 23.2 Q2
The slope of ¥-axis is 0, any line perpendicular to it will have
-1
slope = —
P 1]

Also the required line is passing through the point(-2,0)
{becauze itis given it has x-intercept is - 2}

The required equation of line is

Y=y = m{x- Jf’}

where m = %J[xlylj = [—EJEI]
y-0= - (-2))

V—D=_D—1|{x+2]

-(x+2)=0
¥+2=10
X = =2
Straight Lines Ex 23.2 Q3

The slope of x-axis is O

any line parallel to x-axis will also have the same slope,
therefore =10

Also line has y -intercept, ie.(0,b)

= (0,-2) = (%)
The required equation of the lineis y -y, = m{x—xlj

y-{-2)=0[r -0
y+2=0
y = -2
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The figure with the lines x =-3,r=2 y=-21 v =3 is as follows:

x==3 =4

L=

(342 ym=2 o

From the figure, the co-prdinates of the vertices of the square are (2,5),(-3,3),(—5, =202, =2
Straight Lines Ex 23.2 Q5

Slope of aline parallel to x-axis = 0
Since the line passes through (4, 3),

The required equation of the line parallel to x-axes s
¥ =¥y .m[x-xl]
y-(3)=0(fx -4)

y-3=10
y =3
Slope of a line perpendicular to x=axis = _Fl

The required equation of the line perpendicular to x-axis is
Y =¥ -m{x-xi:}
-1
oL =
y ={*-9
¥=4=0
=4
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Letx = 2 be the line equidistant frorm
x¥=-2and x =6

—2-R=1-6
4=23
nR=2

o Theline equidistant from ¥ = -2 andx =6 isx = 2

Straight Lines Ex 23.2 Q7

& line which is equidistant from two other lines, must have the same slope.
The slape of v = 10 and v = -2 is 0, ie line parallel to x-axis,

The required line 15 also parallel toy = 10 and ¥ = -2

m=0
Alsa, the required line will pass from the mid-point of the line joining
{0, -2) and (0,10}

Coordinates of this point will be (0, 152—2} = (n,g) - (0,4)
The equation of the require line is:
:,t-4-=l:l{:-:-x|]

=y=4





